3.R1 Review (Spring 2019)-f19p October 17, 2019

Are there any Homework Questions you would like to see on the board?

Last day's work: pp. 176-179 #1a, 3b, 4c,7, 10
READ p. 181
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MCF 3MI

Unit 3 - REVIEW 1 pate: (1. | 7 // 9 e

Recall: Form Advantage

Standard form: f[x:|=c1x2+5x+c < V)‘MQ (/] (A‘P (("\ %(ﬁ U@&&/)ﬁ>

Vertex form: f[x):a(x—hj:hi’c \f{)’\ k} maym WM jn Uﬂ&,{ﬁ % /< S/&

Factored form:  f(x)=a(x—r)(x—s) Z2elos /J‘])(/-/I‘i_fv g’ and S
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la) Write f(x)=(3x—4)(2x-1) in standard form. b) Write f(x)= 8x" —2x—21 in factored form.
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2. Determme the zeros. [the axis of symmetry, and the maximum or minimum value for
f[xj x* +6x—40_ Show vour work.
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4. Can all quadratic equations be solved by factoring?
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5. Aball is thrown from a cliff.
The height of the ball above the ground after it is thrown is modelled by the function

h(r]=—4r’ +8t+192, where i(¢) is the height in metres, and ¢is the time in seconds.

a) How high is the cliff?
b) When will the ball be 27 m above the ground?
¢) What is the maximum height that the ball reaches? .
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6. The population of a town P(#) is modelled by the function P(¢)= 61" —75¢+2100 , where # is

timein years. NOTE: #=0 represents the year 2000. According to the model.

a) When will the population reach 3000?

b) What will the population be in 2035?
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